Maths yr 6
Subtracting decimals with different places
Go to the following web page: https://www.bbc.co.uk/bitesize/articles/z6t3hcw
Watch the video and try the activities.
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Now try the interactive activity 2 on the web site.

Now try these
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@ The upper playground
is 52:3m long. The
lower playground is
38.6m long. How
much longer i the
upper playground?

@ Ross has £82.26.

He spends £43.89.

How much does he
have left?

D A sack of potatoes
weighs 32.7kg.
14-6kg is used. How
much s left?
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@ Abath uses 92:6 litres
of water. A shower uses.
45-35 litres. How much
Tess water is used by the
shower?

@ Afootpath is 417-28km
Iong. In two days Rhoda
walks 537 km. How
much further does she

have to go to complete
the walk?

@ An ice cream tub holds
1535 ltres. 0-865 litres
is used. How much is
left?
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@® The summit of Ben Nevis is
1-344km above sea level.

The highest mountain in
England, Scafell Pike, has a
height of 0.977 km. How
much higher s the Scottish
mountain?

@ A large parcel weighs
2.51kg. A smaller one is
0-716kg lighter. What is
the weight of the smaller
parcel?
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Subtracting - Different Decimal Places
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1. Fill in the missing digits to make the calculations correct.

N . 33 . 9 . 21
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2. Circle the group of counters that represents the answer to the question below.

4.03-3
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3. Solve the word problems below.

A. A scientist measured the temperature of two liquids as 4.163°C
and 2.5°C. What is the difference between the temperatures?

B. A small dog weighed 4.25kg. After a week, the same dog
weighed 4.117kg. How much weight had the dog lost?

‘ C. Kit ran 4.8km. Hanris ran 5.54km. How much further does Harris
run?
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Subtracting Different Decimal Places

1.A.8.33-6.128 =2.202 B. 9.216 - 3.31 = 5.906
2.8
3. A. 1.663°C; B.0.133kg; C. 0.74km




